
SealerSales YC-300HL 
12" x 18" Tabletop L-Bar 

Sealer w/ Film Roller

Parts List

https://www.mybinding.com/
tel:1-800-944-4573
http://www.mybinding.com/sealersales-yc-series-l-bar-sealers-w-film-roller.html?sku=YC-300HL


YC L‐BAR DETAILED PARTS DIAGRAM 
Last Updated: 08/14/12   

Page 1 of 6

YCL‐6 – Ceramic 
Full set:  300HL – 25pcs, 450HL – 30pcs, 600HL – 47pcs 

YCL‐9 – Hook, Front  YCL‐10 – Hook, Rear 

SHA‐YCLF – Spring Hook Assembly, Front  SHA‐YCLR – Spring Hook Assembly, Rear 

YCL‐11 ‐ Plate  YCL‐12 – Bushing/Washer 

http://www.mybinding.com/sealersales-yc-series-l-bar-sealers-w-film-roller.html


YC L‐BAR DETAILED PARTS DIAGRAM  Page 2 of 6

YCL‐13 – Spring  YCL‐14 – Cover, Element 

YCL‐17a – Copper Turning Set 
#15, 16, 17, 48, 49, 50 

YCL‐19 ‐ Bracket  YCL‐20 – Bracket w/ 2 extra holes 

MyBinding.com
5500 NE Moore Court 
Hillsboro, OR 97124 
Toll Free: 1-800-944-4573 
Local: 503-640-5920

http://www.mybinding.com
http://www.mybinding.com/sealersales-yc-series-l-bar-sealers-w-film-roller.html


YC L‐BAR DETAILED PARTS DIAGRAM  Page 3 of 6
 

 
YCL‐23 – Arm Spring 

 
YCL‐23a – Arm Spring 

 

 
YCL‐30 – Spring, Silicone Holder Arm 

 
YCL‐31 – Lid/Plastic Cover for Frame 

 
YCL‐33 – P.E. Lid for Roller 

 
YCL‐36 – Support / White Plastic 

 

   

http://www.mybinding.com/sealersales-yc-series-l-bar-sealers-w-film-roller.html


YC L‐BAR DETAILED PARTS DIAGRAM  Page 4 of 6
 

 
#37 – PCB‐YCL – YC‐300HL / YC‐450HL / YC Foot 

 
#37 – PCB‐YCL‐600HL 

 
#39 – MSW‐TEWF ‐ Microswitch 

 
YCL‐40 – Strain Relief Bushing 

 
YCL‐42 – Fuse Holder 

 
YCL‐44 – Variable Resistor / Timer 

 
YCL‐45 ‐ Lamp 

 
YCL‐47 – Power Switch 

 

http://www.mybinding.com/sealersales-yc-series-l-bar-sealers-w-film-roller.html


YC L‐BAR DETAILED PARTS DIAGRAM  Page 5 of 6
 

 
YCL‐48 – Screw for Copper Turning 

 
YCL‐49 – Washer, M4, SR Holder 

 
YCL‐50 – Nut M4, SR Holder 

 
YCL‐53 – Screw M4x15, Arm Spring 

 
YCL‐55 – Screw for #3, #9, #21, and #35 

 
YCL‐56 – Screw, M5x8, Transformer 

 
YCL‐57 – Screw M5x10 

 
YCL‐58 – Spring Washer M5 for Bracket 

 

http://www.mybinding.com/sealersales-yc-series-l-bar-sealers-w-film-roller.html


YC L‐BAR DETAILED PARTS DIAGRAM  Page 6 of 6

YCL‐60 – Screw M5x12, Bracket  YCL‐61 – E‐Clip, E‐8 

YC‐WR‐6 – EVA Roller  YC‐WR‐0708 – White PE Roller w/ Needle 

MyBinding.com
5500 NE Moore Court 
Hillsboro, OR 97124 
Toll Free: 1-800-944-4573 
Local: 503-640-5920

http://www.mybinding.com
http://www.mybinding.com/sealersales-yc-series-l-bar-sealers-w-film-roller.html

	portrait-cover-template.pdf
	Blank Page




